Ready, Sets, Go!!!!! 
MAO National Convention 2012


1. D (Euler Diagrams)
2. A (collection of objects) 

3. B (George Cantor)
4. B (Union)
5. C Cartesian Products are found by using the first x as the domain and the second set as the range of possible coordinates in a Cartesian Pair. : {2,4} x {1} = {(2,1),(4,1)}

6. E All of the answers are Rational:
(a) 22/7 (improper fraction)
(b) 
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(simplifies to 21)
(c) 2.333 (terminating decimal)
(d) 2 2/3 (mixed number)
7. A Finding A – B means to find all of the elements in A that are NOT elements of B. 
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{3,5,6,7} - {5,8} = {3,6,7}

8. [image: image13.wmf](

)

(

)

(

)

()()

{1,2,3,4,5,6,7,8,9,10}({1,2,3,4,5,6,7,8,

9,10}{3,5,7,8,9,12,19,23})({1,2,3,4,5,6,

7,8,9,10}{3,5,7,8,9,12,19,23})

{1,2,3,4,5,6,7,8,9,10}{1,2,3,4,5,6,7,8,9

,10,12,19,23}{3,5,7,8,9}

{1,2,3,

AABAB

-È-Ç

-È-Ç

--

4,5,6,7,8,9,10}{1,2,4,6,10,12,19,23}

{3,5,7,8,9}

-

[image: image14.jpg]


C 39 (See Venn Diagram):

9. D x = the number of subsets of set A = 
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y = the number of proper subsets of set B =
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-the original set = 31

x-y = 1

10. B The disjunction of sets C and B is simply finding the union (what is in C, B or both)
{1,2,3,5,7,8,9} 

11. D Finding the cardinality of the set (that’s what the vertical bars mean) means to find the number of elements in the set: 
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= {0,1,2,3,4,5,6,7,8,9}- {1}={0,2,3,4,5,6,7,8,9}, so 9 members

12. E 
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13. E Which of the following could NOT be an element of a set:
(a) -3
(b) ɸ
(c) Brandi
(d) {-5}
(e) None of the Above

· Anything can be an element of a set! It is just a collection of objects, even other sets!

14. B What is NOT true about the following set: {0,ɸ}
(a) It has two elements (True because anything can be a member of a set, even the symbol for empty set!)
(b) It is described by the intensional definition (False, intensional definition means to list what type of elements the set would have in words, whereas the extensional definition lists the actual members)
(c) It has 4 subsets (True = 
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)
(d) Enclosing the list are curly brackets or “braces” (True)
15. C 
{3,4,5,6,7,8,9,10,12,13,14,15,16,17,18,20,21,24,25,27,28,30}
(a) 11 (Smallest is 11-60-61 = 132)
(b) 19 (Smallest is 19-180-181 = 380)
(c) 32 (24-32-40 = 96)
(d) 42 (Smallest is 40-42-58 = 140)
16. B Cartesian Product: {x} x {2,3,5,7,11,…}, so one possible value is (x,2) 

17. B Russell’s Paradox
18. A If Set A = {1,2} and Set B = {3,4} then the Cartesian Product A x B MUST be a:
(a) Relation– This is because the y values will be used for more than one x value, which makes it fail the vertical line test for functions. 
19. D All of the answers make T fit inside of S except for D which makes s fit into T. 
20. A  S = {1,2,3,4,5,6} , A = {2,4,6}
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21. E false statements
1. 2 is an element of {1,2}

2. {2} is an element of {1,2}---- It is a subset.
3. 2 is a subset of {1,2}--- It is an element. {2} is a subset.
4. {2} is a subset of {1,2}

5. {1,2} is an element of {{1,2},{2,3}}

6. 1 is an element of {{1,2},{2,3}}

7. {1,2} is a subset of {{1,2},{2,3}}

None of the Above 2,3,6
Changed to C at the Convention
22. D S={2,3,4,5,6,7,8,9,10,11,12} A = {9,12} 
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23. C The shaded area to the right can be described as:
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=”What is in C that is not in A or B, unioned with what is in A and B both”
24.  B

25. B Disjoint (They do not have any elements in common.)

26. C Sets A and B could be defined as:

A = {Imaginary Numbers} 

B = {Transcendental Numbers}

(They do not have any elements in common.)

Changed to E at the Convention
27. D Question Thrown Out at Convention
28. C 
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   4/12 = 1/3
29. C 



30. A From the Information:
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